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VCC=10 V VBE=1.0 V hFE=200 RB=200 k RC=5 k RE= 5 k
Answer the corrector current IC of the transistor amplifier circuit shown in the figure. 
Where, VCC=10 V, VBE=1.0 V, hFE=200, RB=200 k , RC=5 k , RE= 5 k
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Answer the following questions regarding the transistor amplifier circuit shown in the figure. 
R1 R2

Answer the operating point.  Where, the base current is enough smaller than the current flows through R1 and 
R2.   

RE

Optimize the operating point by changing only RE. 
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Answer the following questions regarding the OP amp 
(operational amplifier) circuit shown in the figure.= /

0  
Assume that the voltage gain of the OP amp is A and that the input 
and the output impedance are infinity and zero, respectively, 
determine the closed-loop voltage gain = /  

1 ( ) = ( )  
Assume that the OP amp is modeled by a first-order (one pole) system having the following transfer function, ( ) = , where  is a low frequency voltage gain and  is a pole frequency, determine the closed-loop 

voltage gain ( )  
 

 
Determine the step response and plot it. 
  



7  2  
  

 

4/4    

 
 

Answer the following questions regarding the OP amp (operational amplifier) circuit shown in the figure. ±= =0  
Assume that the saturated output voltage of the OP amp is ± , plot the waveform of  and  when the 
initial condition is =  and = 0  

 
Determine the condition for the circuit to oscillate  

 
Determine the oscillation frequency, . 
 

 


